= o
N & o & AF & H Al A
20138 = S0la LA IMEAL ~ BHE AL
2N FHZ AL
M HE2AZH (FHEZAlD)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Z M & Al Bt 23,547,609 31,892,980 A 8,345,371
= 736,571
& 669,000
= 500,000
& 130,000
< 885,527
s 20,626,511
HE2HAZH (M AlID) 31,760 30,753 1,007
Jl=&l 31,760 30,753 1,007
Jl=dl 31,760 30,753 1,007
201 Let24d] 20,960 19,953 1,007
01 At 22/l 18,760 17,853 907
Oget==EH| 14,140
0.712MREEFY 70,0003 %2291 1,540
0.ARI10]1 & SEMES 11,600,000& 11,600
0.J71Et=&HI 1,000,000 1,000
OSH (FHMZAULRFA)
7,000& #2201 %302 4,620
02 =224l 2,200 2,100 100
Oz22= & HA 2,200
0.2HR3 100,000& * 220l 2,200
202 odl 10,800 10,800 0
01 = LH o4 1l 10,800 10,800 0
ozgloitl (3534l)
180,000& = 5& & » 12& 10,800
HYETXN2H(Z M AIDL) 4,200 4,200 0
FAEEZH 4,200 4,200 0
ol 2 &l 4,200 4,200 0
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0
O RA2IEERFA 350,000& »12& 4,200
ANEZH 2435t 200,460 289,030 A 88,570
< 6,800
e 193,660
NS B H e st 190,860 279,430 A 88,570
< 1,200
i 189,660
NEFH gdst =8 188,460 177,550 10,910
201 LBH2EH| 12,500 6,930 5,570
01 At 2t 2l 9,500 6,930 2,570
O e8| 500




M ZHEAD
3 NSFH gds

el NG3NeEds (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0.A2EANUE E2& 24
1,000& *5000H 500
Oger2dt| 4,800
O.HDEASA oM 80& *60,0000H 4,800
OZ3NSELZTE s HFo&E 70,000 182! 1,260
OSH(NGZMARE=A) 7,0002+601+70 2,940
03 A2 Z Hl 3,000 0 3,000
OYEG0l HEI HAM(EE,F4)
1,500,000& 23] 3,000
202 O4dl 12,960 15,120 22,160
01 = LH 4 Hi 12,960 15,120 N2,160
OXNSZ NSRS+l 180,000& 62!« 12& 12,960
203 YR =&t 2,000 2,500 A 500
03 AIBFXH S =AY 2,000 2,500 A 500
OXgagunagds=a 2,000,000 2,000
301 et A3z 1,000 3,000 A 2,000
10 #AtAHIEAZ 1,000 3,000 A 2,000
OXgZNadst =& 23 &4
20,0003 2501 %23 1,000
308 XtXIEHHSOIA 160,000 150,000 10,000
08 JIEtEE 3 160,000 50,000 110,000
OS2I GUKNILEHENY NAaTHAHEE
Abed (&= XIALTH & HIE] ) 60,000, 000& 60,000
OHENYEES 88 DIIsENE NEHD
A EH(FEHEW)-3XE &£ 100,000,000 100,000
FAEIMUE 2,400 1,880 520
< 1,200
s 1,200
201 Let2d] 2,400 1,880 520
< 1,200
[ia 1,200
01 At 2teltl 2,400 1,880 520
HFAEIMUE ZAE L D7
2,400,000& 2,400
< 1,200
[ia 1,200
dES3NMEFHE 4,800 4,800 0
< 800
[ia 4,000
SHSHLEAS K 4,800 4,800 0
< 800
e 4,000
402 RIZEX201 ™ 4,800 4,800 0
< 800




2N

X ZH
S =

el

M= Al D
NS EMH gdEt

dS30aE=sd

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 4,000
01 QI2tXE8 X 4,800 4,800 0
OBUIZHE =2 (204 2) 4,800,000 4,800
< 800
= 4,000
AH XA Y 2o 4,800 4,800 0
= 4,800
T SIIR2LEHYER2YE 4,800 4,800 0
o= 4,800
101 e1214| 4,800 4,800 0]
= 4,800
04 J|12ZtHIZ22NEES 4,800 4,800 0
OESII2LIHRHAE ol2]
200,000 x12& 20! 4,800
= 4,800
X otd & 222 A 136,390 12,473,722 A 12,337,332
= 41,371
& 14,937
= 80,082
MU X2 L 2o+ 82,347 136, 648 A54,301
= 41,371
= 5,400
= 35,576
X & 2otatel 12,633 13,068 AN 435
101 2121 4| 6,763 6,763 0
04 JI2tHIZ22NEE S 6,763 6,763 0
OHEINEIZAI o182 95,360& »8 763
O2II2LIHEH 2l12d| 250,000 2021 x12& 6,000
201 gEt24H | 4,870 4,805 65
01 AP 22| d| 4,870 4,670 200
OgBt4=2H| 4,170
0.8 ZSEAHA =2
2,000 4000 &~ %104 *23] 1,600
0.0IUX & Sotael s2=2 oI
270) x2= x5000H 270
0.XE QLM AEIAH MZ  200& *2Z «50004 200
0.4 D] HIIZA HH L2
30,000 x7=+10 2,100
Oo249sd 700
0.8 AJE EFAxH
70,000 1021 x13] 700
203 €2 F=&d| 1,000 1,500 A 500
03 AR Z=Z R =AY 1,000 1,500 500




M ZHEAD

M 4N oA L 22 WA
S oux2e ¥ Soterd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OWUXZES o 2otael AME
1,000, 000& 1,000
Ol AKXl AlE & ALY 69,714 123,580 A 53,866
= 41,371
< 5,400
s 22,943
403 MtXISHH S0l & 69,714 123,580 A 53,866
= 41,371
= 5,400
s 22,943
02 3|2 0l CHSHCH =& At & HI 69,714 123,580 A 53,866
O MASE HAANEMEAY
204,400 2530t 7 51,714
= 41,371
e 10,343
O MASS MIANEMLAY
200,000& 907+ = 18,000
< 5,400
e 12,600
AN HX ESALS 54,043 12,337,074 N 12,283,031
< 9,537
i 44,506
JelE 1008t 22 A 54,043 19,074 34,969
< 9,537
s 44,506
402 RI2EX=01 M 54,043 19,074 34,969
< 9,537
s 44,506
01 RIZERI=2E X 54,043 19,074 34,969
OelE1002ts 2= AF (6001H7)
54,043,000 54,043
< 9,537
s 44,506
dEANEF2Z 2 535,651 1,865,783 A 1,330,132
= 300,000
i 235,651
dSAEF2AC2Y 535,651 1,865,783 A 1,330,132
= 300,000
[ia 235,651
dSANERA 2 34,151 31,283 2,868
101 @124l 3,111 2,793 318
04 JIZHHZ2Z2XNSE+ 3,111 2,793 318
OdSAZT-EHaEHSE 012
38,8803 «121+80! 3,111
201 Let24d] 6,440 3,890 2,550
02 =24l 6,440 3,890 2,550




SH: ZHEAD
Ha: HEAZ2YBR

el MEATRRSH (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O332= € HAl 1,440
0.ANESEA HIANER
15,0002 8 A+ 12& 1,440
OA&EHl s Xl 5,000
0.8SANERXE S 500,000 *5IH £ 2,500
0.ANESEA FXEx 500,000 x50 2 2,500
301 gt L= 24,600 24,600 0
1224 S 24,600 24,600 0
O8UEAIZ el MHEH 24,600
0.t A& 450,000& x12& 5,400
0.Mx A G&  HAHAAMNE
400,000 44 128 19,200
HSAZTELS 1,500 1,500 0
301 L2 A= 1,500 1,500 0
10 #AAHIEAZ 1,500 1,500 0
ONSANESHUSIAMLSZLSSHANAIE(3MAIE)
30,0003 5001 « 100 Al & 1,500
CHEAIE OHAIOIE & XIS A 500,000 0 500,000
= 300,000
[ia 200,000
401 AIEHI L 2 CHYI 500,000 0 500,000
= 300,000
s 200,000
01 A& HI 496,400 0 496,400
OSHAEAIZ OHAOIE EXIBA 496,400,000 496,400
= 296,400
s 200,000
03 AlE S THHI 3,600 0 3,600
S0yl 500,000, 000& *0.72% 3,600
= 3,600
ng 58 ¢ ot¥, 221 =S5 890,920 997,034 A 106,114
= 267,000
& 130,000
< 89,200
s 404,720
HalUes GO 460,920 547,034 A86,114
= 267,000
< 89,200
[ia 104,720
NESSH LXel A 282,000 328,354 A 46,354
= 155,000
< 46,500
e 80,500
401 Al BIZ 2018 230,000 248,354 A 18,354




SN ZBHMEADL
Hu: 18 5% 2 oF, 22X SN

Chel LHAIQIE AleloH & (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 115,000
< 34,500
e 80,500
01 A& HI 230,000 248,354 A 18,354
OXNdEsH LAl At 230,000, 000& 230,000
= 115,000
< 34,500
s 80,500
402 2I2H X201 M 52,000 80,000 A 28,000
= 40,000
< 12,000
01 RIZEAt=2E X 52,000 80,000 A 28,000
OISl sd MY 52,000,000& 52,000
= 40,000
< 12,000
2TeldH 29 23,400 23,400 0
< 11,700
e 11,700
101 124 dl 23,400 23,400 0
< 11,700
i 11,700
4 JI2ZtHZ22XREES 23,400 23,400 0
OgXteldE A 23,400,000 23,400
< 11,700
s 11,700
S0 FUAEXAAY 4,800 4,800 0
= 3,000
s 1,800
401 AIEHI L 2 0] 4,800 4,800 0
= 3,000
[ia 1,800
01 A& tl 4,800 4,800 0
OS2I SEEUEX ALY 4,800,000& 4,800
< 3,000
e 1,800
HaU= AdUs =8 10,720 12,880 A2,160
201 Yer2 | 6,400 6,400 0
01 At 22l 6,400 6,400 0
OnNE=d 822 MH 4,000& *5000H 2,000
OXNGZSSHLSS2Z2 AL X & A M=
2,500& 50004 1,250
o=z2g=¢ 70,0003 x6 X x4 2 1,680
OSEH(LSEIYRFZX) 7,000 3L 70 1,470
202 044l 4,320 6,480 A2,160
01 = LH o4 4l 4,320 6,480 A 2,160




SN ZBHMEADL
Hu: 18 5% 2 oF, 22X SN

Chel LHAIQIE AleloH & (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONEENY =0 180,000& #2021 12& 4,320
A ED Y S4XIR 140,000 177,600 A 37,600
= 112,000
= 28,000
402 RI2HX20l 140,000 177,600 A 37,600
= 112,000
< 28,000
01 RIZERI 22X 140,000 177,600 A 37,600
OMEIEIIHESLXE 140,000, 000& 140,000
= 112,000
= 28,000
SE2Z2MI 430,000 450,000 A20,000
&2 130,000
s 300,000
ATHES 22 A 430,000 450,000 220,000
=2 130,000
s 300,000
401 Al HI K 201 I 430,000 450,000 220,000
=2 130,000
s 300,000
01 A& HI 430,000 450,000 A20,000
O3322AY 430,000,000 430,000
& 130,000
[ia 300,000
Sh=X 2435 1,476,770 1,259,850 216,920
< 10,000
s 1,466,770
NI NE2F 1,476,770 1,259,850 216,920
< 10,000
e 1,466,770
SEXSX 243 JIEFAE L AS 300,000 150,000 150,000
401 A& HIZ 201 Y| 300,000 150,000 150,000
01 A& HI 297,840 148,920 148,920
OEH 10 22X JIBHAIE LAY
297,840,000& 14 297,840
03 AlE SR THHI 2,160 1,080 1,080
OEd 10 FX JIBAIE ZHAE UL
300,000,000& *0.72% 2,160
SEXASXINY CldEE 1,148,920 100,000 1,048,920
401 Al HI R 201 I 148,920 100,000 48,920
01 A& HI 147,487 99,280 48,207
O I8 X& 147 487
0 2=01g JIEAIE(BEE=> B2)XE
141%147 487,000 147,487

_7_




M ZHEAD
g ENRI 2435

tel: EUsXl ANd29 CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
03 Al 20| 1,433 720 713
O 2401 JIBAIE XS AIE 20|
198,920,000 *0.72% 1,433
402 SI2vXHE0| & 1,000,000 0 1,000,000
01 QI2t X228 X 1,000,000 0 1,000,000
O 201 NEAMNY(=XE Y2 S Dt
INE=D) 14l%x1,000,000,000& 1,000,000
EXNgX NIA2H 7,850 9,850 A 2,000
201 Bt 3,850 5,850 A 2,000
01 AP 22| H| 2,500 2,500 0
Ogbt4=24| 2,000
0.5EXNRX a2 M 1,000,000& * 23] 2,000
O 500
0.5ENEXAASEEA 50,000& x102! 13| 500
02 2% H| 1,350 1,350 0
OZ2Z222 ¥ HMA 1,350
0.5EXN8X a8 U485 RE=
270 x5, 00004 1,350
202 044 2,000 2,000 0
01 2L I 2,000 2,000 0
OEXNYGLZ=AHH (L, S, J|EH
100, 000& #2021 %103] 2,000
203 R F & 1,000 1,000 0
03 AIZH =X 2 F X Y| 1,000 1,000 0
OEXNRINEREFX 1,000,000& 1,000
301 et A= 1,000 1,000 0
10 HALAHI B a2 1,000 1,000 0]
O & & EXNSX SHz &AM
50,000 1021 x23] 1,000
eIl nEREZ I 20,000 0 20,000
= 10,000
= 10,000
307 QI2t0| & 20,000 0 20,000
= 10,000
= 10,000
02 A2tAAME X 20,000 0 20,000
020138 & &I RDEH BXZ2XS
500,000 x8H x5 & 20,000
= 10,000
= 10,000
FHOHE &L F=HEZIMA 10,273,018 759,878 9,513, 140
= 28,200
= 78,590




SN BHMEAD
HE: OEOE U FABIMM
S9l: S0E FASBZMA

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 10,166,228
sSHE F=HEZNH 10,273,018 759,878 9,513, 140
= 28,200
< 78,590
i 10,166,228
AN A=HH MHIAME 16,518 14,478 2,040
101 @124 dl 1,520 1,520 0
04 D12t Z2XREE S 1,520 1,520 0
OXtsliot 22 Al (0FAIARY)
100,000 201 x6 X 1,200
OXtsliot2 2 Al (Hery)
40,0003 101 %8 320
201 L2l 5,638 4,318 1,320
01 At 2t 2l 4,930 3,610 1,320
O e8| 800
0.AEYR JZLE AXKE
120,000& 53 600
0.4 ety (g, URexz)
200,000 200
OSZH(ENFTHLRFZX) 7,000& 62! +70 2,940
ozdg=¢ 1,190
0.d=®3s & 70,000& 102! %13 700
0.22IIMOl B &AL
70,0003 +721%13] 490
02 =24l 708 708 0
O332= % HAl 708
0.Xtoll0tE &IIR= 59,000& »12& 708
202 04l 9,360 8,640 720
01 = LH Yl 9,360 8,640 720
OF =8R8 0 130,000& 621 x12& 9,360
BIEEHI ALY 59,500 130,000 AT70,500
S 17,850
s 41,650
402 BIZHXHE 0| A 59,500 130,000 AT70,500
< 17,850
s 41,650
01 RIZERI2E X 59,500 130,000 AT70,500
OBI& FHIALY 59,500,000& 59,500
= 17,850
= 41,650
NSHE X2 A 70,000 70,000 0
< 21,000
s 49,000
402 RIZEXHE0| A 70,000 70,000 0




SN BHMEAD
HE: OEOE U FABIMM
S9l: S0E FASBZMA

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 21,000
s 49,000
01 QIZERI 22X 70,000 70,000 0
Ok= == NSHEAEY
10,000,000 * 14 *50% 70,000
< 21,000
[ia 49,000
HAFEANEZLELOHIHERX 9,850,000 200,000 9,650,000
405 RHoHE S HI 9,850,000 0 9,850,000
01 et EFSFHSHI 9,850,000 0 9,850,000
O OENY &= X=
19,700,000, 000& *50% 9,850,000
A FAHE FEINEFALY 52,800 60,000 AT,200
403 MHtXSHHSA=0l& 52,800 60,000 AT,200
02 S| 2 S0l CH&HCH & A HI 52,800 60,000 AT,200
ONBIZIQHE FHIHS AL
6,000,000 *20%*44 Al CH 52,800
JEAIR =EEHI ALY 110,200 111,000 A 800
T AEHIZXEUY 110,200 111,000 A 800
01 A& HI 109,406 110,200 AT94
OJIAI A =EZHIALY 109,406
0.JIAIE FEHHEHIAL(SHO0EXE)
4,924,300& 20 98,486
0.7tAIA F=EHFHIMSOIEIXS)
1,560,000 7S 10,920
03 Al S I 794 800 A6
OJAI 2 =S FHI ALY 28I
110,200,000& *0.72% 794
Sdl0lE Ml K& ALY 94,000 134,400 240,400
= 28,200
< 19,740
e 46,060
403 MtXISHH S =0l & 94,000 0 94,000
= 28,200
< 19,740
e 46,060
02 3|23 0l CH 8HCH 2 At & HI 94,000 0 94,000
O £dI0IE MelXI& A 2,000,000& *47= 94,000
= 28,200
< 19,740
s 46,060
st B XN 20,000 40,000 220,000
< 20,000
402 RI2EXt20l 20,000 40,000 220,000




M ZHEAD
a

HMa: ENOE U FHHAMM
2 sHE FHEZME (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 20,000
01 RIZERt 22X 20,000 40,000 220,000
Ogt=2dls BXX3 20,000, 000& 20,000
= 20,000
XS = 2tel 1,129,030 4,338,410 A 3,209,380
= 100,000
s 1,029,030
A2UEZ2E 1,100,000 880,000 220,000
= 100,000
i 1,000,000
SAAHEZEEMA(UPIS) A S AL 200,000 100,000 100,000
= 100,000
[ia 100,000
207 A RO 200,000 100,000 100,000
= 100,000
s 100,000
01 284 200,000 100,000 100,000
OZAFLRA(PIS) ATEAN P U B
141 200,000,000 200,000
= 100,000
i 100,000
MEEZSSWALET WA 500,000 390,000 110,000
401 AIEHI L 2 CHYI 500,000 390,000 110,000
01 A& HI 496,400 387,543 108,857
OUFEZESWALEZINA (L=150, B=6.0)
496,400,000 496,400
03 Al S THHI 3,600 2,457 1,143
OUEZSS WAL Z2OHE S AF 20
500,000,000& *0.72% 3,600
METHMOISAYE2HE 100,000 0 100,000
401 Al HIZ 201 8] 100,000 0 100,000
01 A& HI 99,280 0 99,280
OMEzH A AT ZIHE B AH(L=126m, B=6.0
m) 99,280, 000& 99,280
03 A& =TI 720 0 720
OMZH 0N ALEZHE S AL 20
100,000,000& *0.72% 720
MEAZHE O E AL EZ2SF LI R EH| 100,000 0 100,000
401 A& HIZ 201 8] 100,000 0 100,000
01 A& HI 99,280 0 99,280
OMBEAZHSOIH LAY T2 FAIURHEI S
Ab(L=450m, B=6.0m) 99,280,000& 99,280
03 AIE S THHI 720 0 720




2N
X ZH -
L= B

el

Z M Al
KA & 2tel
=== =

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=ibl 100,000,000& *0.72% 720
MAEZ2elAHE HE 200,000 0 200,000
207 A RO & H| 200,000 0 200,000
01 289 200,000 0 200,000
OdtE=Z 2| H=E THEHI 200,000, 000& 200,000
ANEHE RFA 29,030 28,410 620
A& 29,030 28,410 620
201 Let24dH] 11,230 11,450 A 220
01 At 22/l 11,230 11,450 A 220
OZHE/3 g8 70,0003 1821 %33 3,780
OSH(XNGHELRFZX) 7,000& +521+70L 2,450
Od=230= 1,000,000& *53] 5,000
202 O4dl 7,800 6,960 840
01 =S LHAYI 7,800 6,960 840
OX YA &S e 0 130,000& x50 x12& 7,800
308 X XIEHHSOIA 10,000 10,000 0
08 JIEtR Y= 10,000 10,000 0
QZAUES NSNS AMME ALY (2H 1)
10,000, 000& 10,000
S AR 3,878,640 5,693,870 A 1,815,230
& 669,000
£ 500,000
< 686,000
= 2,023,640
NEItss TAJIEEES 3,378,640 5,593,870 A2,215,230
& 669,000
£ 500,000
< 686,000
e 1,523,640
SAAHEEZ2HE 100,000 300,000 A 200,000
401 Al& Bl 28I 100,000 300,000 A 200,000
01 A& HI 99,280 297,840 A 198,560
OSAMAEZZ ML (MF AIA) 99,280
0 MNEZAHESZ IANR2I] S AH(L=400m)
99,280,000 99,280
03 Al =2 THHI 720 2,160 A 1,440
OAIZ 2 HHI 100,000,000% *0.72/100 720
SAAHEANERKNE = 200,000 150,000 50,000
401 AIEHIZ 28I 200,000 150,000 50,000
01 A& HI 198,560 148,920 49,640




M ZHEAD

M SAONY

e XNHIsst TADIBLEY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OZEZANEE2EL (S, 2 M, A, St A0
198,560,000 198,560
03 AlIE 21| 1,440 1,080 360
OEANHEANERANEL=AIYE 20|
200,000,000¥ x0.72/100 1,440
B AHYAL 100,000 300,000 A 200,000
401 AlEHIZL 2 0HY| 100,000 300,000 A 200,000
01 Al&H| 99,080 297,840 A 198,760
OSAREY EEEH| 99,080
0 MH S AHEEZ 2 FH|(L=500m)
99,080,000 99,080
03 Al 20| 920 2,160 A 1,240
Oyl 100,000,000 *0.92% 920
SANELE R 22,950 21,870 1,080
201 Yet2 2t 18,270 18,270 0
01 AP 22| H| 1,470 1,470 0
OZSEHI (TAIHLLE2=E) 7,000 321 %70 1,470
02 B232%H| 16,800 16,800 0
OMAMZ1= 16,800
0.EAHEERIIZE EIIB
200,000 x12& 2,400
0.8t0IS&2H &dII= 200,000 x12& 2,400
0.8t0IS2 =& & 200,000 x12& 2,400
0.Z2SMZ2H HMIIE 200,000 x12& 2,400
0.xAHEZ2& NIz 200,000 x12& 2,400
0.=HEZ2E &2 200,000 x12& 2,400
0. 242 M2 200,000 x12& 2,400
202 044l 4,680 3,600 1,080
01 2L Y| 4,680 3,600 1,080
OEAMNE S 240 Y| 130,000& 321 x12& 4,680
MEHICH TAHEEZZ A S A 1,200,000 1,700,000 A 500,000
= 600,000
= 600,000
401 Al HI L 204 HI 1,200,000 1,700,000 A 500,000
o= 600,000
= 600,000
01 Al&H| 1,195,680 1,693,880 A 498,200
ONMEICH TAHETZZ HEZA
1,195,680,000& 1,195,680
= 595,680
= 600,000
03 Al 201 Y| 4,320 6,120 A 1,800




DB HE AL
DS AR
P NEIbsE SAIDIBEES

AL

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
O=ibl 1,200,000, 000& *0.36% 4,320
< 4,320
SAHEEZZ Ot2E FY| 300,000 300,000
401 AIEHI L 2 CHYI 300,000 300,000
01 A& HI 297,840 297,840
OusEXad 2 It Ul (A=244m")
297,840,000 297,840
03 Al =2 THHI 2,160 2,160
Saibl 300,000,000& *0.72% 2,160
SHATHX HSE HUIAY (MOFATHXI ) 955,690 955,690
& 669,000
< 86,000
s 200,690
401 Al I 28I 955,690 955,690
= 669,000
< 86,000
s 200,690
01 A& 8l 949,669 949,669
OdtHATH X HSSEHIALE 949,669,000 949,669
= 662,979
< 86,000
[ia 200,690
03 A& 2 THHI 6,021 6,021
OAl& 2| 955,690,000& *0.63% 6,021
& 6,021
20130 H NI HE S AMATHAIZ AT S SE (= 500,000 0 500,000
X7)
£ 500,000
401 Al Bl 28I 500,000 500,000
£ 500,000
01 A& HI 496,400 496,400
O013M TN AN S SN ALHALE MUEZ
EE(HEXR) 496,400,000 496,400
£ 496,400
03 A& =2 THHI 3,600 3,600
O013M TN AN S SN ALHALS MAUEZ
EH(HEXF)AE 20U 3,600
500,000,000& *0.72%
= 3,600
AMIIBtES F=& 400,000 300,000
OSO2 TAIDIBFEE ALY 400,000 400,000
401 AIEHI L 2 CHYI 400,000 400,000
01 A& HI 400,000 400,000
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. T AONY

R TAID|IBLEEREAE F=&X (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O SANAHEZREW JIBEAIE EHHIAFY
25,000,000 *8IH 2 200,000
O &AMMX A SHAEH ALY
20,000,000 x 109K A 200,000
TAMNEY &G FA 100,000 0 100,000
ZEHHAMY (ZRAEA) 100,000 0 100,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
01 Al&HI 99,280 0 99,280
OgHAY 1A 99,280,000 99,280
03 Al&Z 2 THHI 720 0 720
Oyl 100,000,000& *0.72% 720
MEES(FHMZAID) 3,090,770 410,450 2,680,320
LHEAHeH X = 3,090,770 410,450 2,680,320
sSAJg=4)|2 &= 477,370 361,250 116, 120
701 J|EIS| HE =2 477,370 361,250 116, 120
01 JIEtS HE &= 477,370 361,250 116,120
OszA)Y SEHI)I2S2SEEIH &3
477,370,000 477,370
S22 EEAMNGETE2 2,613,400 49,200 2,564,200
701 JIEIS| HE =2 2,613,400 49,200 2,564,200
01 JIEIS HE =2 2,613,400 49,200 2,564,200
O=s3HANEEIAHEES 2,613,400,000& 2,613,400
ol 51 g 1,900,000 3,770,000 A 1,870,000
odl 51 8l 1,900,000 3,770,000 A 1,870,000
ol gl 81 1,900,000 3,770,000 A 1,870,000
801 oyl dl 1,900,000 3,770,000 A 1,870,000
01 ollgl gl 1,900,000 3,770,000 A 1,870,000
O ollgl ] 1,900,000
0 B RTAEIA X024l
500,000,000& 500,000
0 &4 |ICE=H EX0H2 4 o0& 0
0 P AL EX W2 1,400,000,000& 1,400,000




